SﬂIM.

/‘ F2) = Teok(ne) = o Loslra)

\ W\(U‘Lq T
i, ] G dem0) B 50>
l!;M J *_Z(-ildz ] [ L_q i ’Z} (NH‘)’NM o 20 o w]?e
00 96w k=1 - E z "’oéé @
=2mi ZRe_sa&
Sivg.
2 =k ismg von F12)) - RES(“D = lim (1) m“rz) ]

: T\)es[ fm'())

0 = Zac (‘Z—S

k4
-4 4 eo4
fk--g‘uék“ -> <’_‘°ZZ l(‘1>
% b k=4
st 21
%( qslf% LU0 5

LT T
kY 2.4 jo
)



2 —”ltw\[ 2(%\ °| =0 = ch ZQe,g

*Q N-)&JDQN
L» Zz-ic:o\ rPole { Orc[wqy

Res (4] 1) = e (o-0) "D L

23ca 2+l

L4

= (2-e)e<ce)

Teot(2) » 2=k



reell

———

7£(t)——+2a COS ZITV){‘ b Sin (

Tl

An = —f f(x\ (DS(
'l'[Z
Tr,

bn = = If(x\%m(

‘l'/Z

)clx (V\’ O)

M>4>< (n21)

T/2

7£ ae,raée, = b\,\=o/ antzg...

Tty
f uwae,roAQ = Gn=0, b, - 2!

)



4t
0 21 _

T e——
I ‘—~.,T (JX

AL

N¢ Tiz%(x) ij(l—>
b, = ) =

O g s
Co



Falton

) +=2)d¥
= Fun l()f\(Zn&\ 0@&
- (f—ra\(t\ = ((7 x£))
/ 10!

R S S N U A T TR




! B | x, 0<x¢<1
o 4% 7[/’ (x) = [O, Sons+t

T ’X\ j(t ‘THT



(7[4 *7[2) (B

Mgt <2
2<t<3
t )3



Ta 2(15—0
i/» ek | 2 W
AL

Lel<O = €< -2

=24 > 1,
£>3

== =)

(‘64*(’%\(75< £>B (ﬁﬂj (- dx = JO -—E)_/

-_ R
o<



2+¢

(£ h) et = [ 2x dx = (6%

o



(‘Q k ’Cz\ (“4< t<2) =

|

2xol>< =’4J{



7 (t-x)
#(x)

4
(ﬁhcl\(z<{:<3)= IZXJ)Q'T— 4-({-7,)2
=2+t



el > ) t=s<l\ 5o ¢,

HOJdE = |20 dt + | £(¢) d¢
I e T o

J}(sﬂ_)ds be: L sl s=0 _Lt=sdss=]

O b{,( O(*L .(5“ S =L I&-‘-L‘—S‘—FL:’)S':,Q

o<l L @ L
oot Tradt + [pode = ot




